Optics Homework 24: Due Tues 4/8/08
Dr. Colton, Winter 2008

12 total points
1. P&W P11.17

2. P&W P12.1

3. The simplest possible hologram is when the object beam is a plane wave; the interference would produce a diffraction grating structure.  (a) Show by adding the E-fields of two plane waves that the interference between an object beam (at angle 0) and a reference beam (at zero angle) create an intensity grating on a screen at z = 0 that has a fringe amplitude proportional to Eobject and a fringe period:  = /sin0. (b) Show that when this grating is illuminated by a beam at zero angle, it produces a diffraction beam into the direction 0.
























